10.

11.
12.
13.

g & fou Al

(39 YfishT & F99 3METUT §5 YT 97 397-U7 & gl gt av
Faer Hiell-HTell areT-@ge 97 @ g @)

e IR i & 30 fie & o & <@ o o TeAeE # w9 7% AR € iR #E
WY LT & 81 YR SNh TS ST TR SHE YT eohTel hed-Fiereh i qoht ot
TG I T Qe I SR |
JT-UF AT [OMR] @ 13r 727 &1 3@ 7 at 7 3y 7 & faga #1 gawr 3av-u7 g1
faar srEm
YT STThHIh T STR-TF 1 AT JIH E0-J8 W 09 ¥ foiRa ©H R fag|
JUV-UF & FI9 B U¥ U9 @ 3T R ATE e T ¥ for@ agr A4 134 gar &t
GT &Y U7 @ YY1 STgi- T8l HATavaE gl agl 99- Jieaat &1 &aidh, QUet &Hig a91 9
&1 T@Y 3l W o g
3o THo Ao I-UF WY A% WEAl, JIIGfa®l Q& d W W&l (7T FF
&), QUeT Fig T9T FITYfaHT U¥ 3gehdiar 3N 3o THo Ao IV-UF G &1 FAEA
¥ 3UREET eIy a1 HIeHT §7: @ &1 JFAT T8l 81
uE Sl Fig o aRadT B (g G FA g Aed A TE T ST
|TEA T FI1T JHT STE
g9 797 gikaat 7 o7 100 aglaswedia 797 §1 997-Giciat 3 g&% 997 & i dalcis
I 132 13 &1 A% F97 & dFfcu® 3T & [0 Yt IAV- A F1 Gl Gl & qra
33 74 g9 &1 39T-UF & F9H U8 U 39 79 (G0 & AR 97 @ YT 1 T FHEAT
gl
YIS 99 o ST h [oTT haet T & I ol Mel SR & | T § ek gl bl el H
T 7 Th gq H AU A T 98 IR TAd T S
&I 3 1% U& Y @gl gRT 3ifehd 3T agell A8l 5T @t &1 qlq 3T faHdt ¥ &7 397
81 31 aEd &, @l |arya gfed & A 5d T4 g9 g9l & @ 218 31 U8 5V 0 g
e 3 s
T FE & [T Te-IfKen o q@Us & e e §e a9 S-q&m & 3ifai 7o
& TN &
TR & ST 39e7 3t TH ¥ IaT-T7 TI&T 9o § o o <l
TOeT U g9 ¥ Ued T 99 § ael S S STAfa T g
afe g s when & srfad Wl &1 A w8, @ 96 fvafame g) fifa
< S 9AT gl
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97. Teh{EHT ATSHAN Hehi<gd S =Iq wafd?

(1) W (2) @
(3) &IHN: (4) &rafeTq
98, fe TIw: TEeRIrell STehITs SR el 31 &:?
(1) <y (2) 3Ty
(3) HHAW: (4) STHA;
99. IBHfA: HHIHS: h: TE:?
(1) sh: (2) ==
(3) 9= (4) TIHld:
100. ToI¥ T ATE! YT wafd ?
(1) st (2) fogem
(3) HIH (4) HEEHI
*ddk
30

100

688 /Jyotish Falit (i)
Research Entrance Test-2023

No. of Questions : 100
Y91 skt €= : 100

Time : 3 Hours Full Marks : 400

TqHe : 3 FUS quils : 400

Note: (1)

(2)

(3)

This Question Booklet contains 100 objective questions (MCQs)
of which 50 Objective questions are based on components of
Research Methodology and 50 Objective questions are based
on concerned subject.

9 ULA-RTH H HA 100 TS 997 (THoHoFo) € |
ST 50 axfTe use <Y Ul & Huchl 93 SAEma 8
AR 50 IEfrse gs= defad favg ud &5 o onaa 2 |

Attempt as many questions as you can. Each question carries
4 (Four) marks. Zero mark will be awarded for each
unattempted question. There will be no negative marking for
wrong answer.

IA 99T B BA HIA BT JIH B oTaAT 3T HT Tob | IIh
U 4 (|X) SFhT &1 2 | e AT 99T H Ui A
BN | T 3cdY o [T bl SROMHS i el 3T S |

If more than one alternative answers of MCQs seem to
approximate the correct answer, choose the closest one.

i IS TSl & Teh § 39 Jehicdsh IOY el I &
e udid 8f, af Mehead 98l I < |

3 P.T.O.
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Ol1.

02.

03.

688/Jyotish Falit (i)

The marks of 100 students of a class revealed that about 80 students
scored below 20 marks, 10 students scored between 20 to 80 and
remaining scored between 80 and 100 marks. Which of the following
statements is correct for such data ?

T% HEM & 100 BET & 3l § IaT Il 6 @ 80 BET « 20 € HH {d W<
f, 10 BET A 20 @ 80 & e &% W R Sl AW 7 80 | 100 9 F
3 o fpu) XY eipel @ fore fefeRag & @ -ar e @@ R ?

(1) Mode of the data will be 30
AT & TgaH 30 B

(2) Skewness of the data will be negative
SATHET &1 RO FOIHS  EFT

(3) Kurtosis of the data will be equal to 3
TS 1 FIRA 3 B qCEAL BN

(4) Skewness of the data will be positive

TRt &1 oSO a=qs e

The vertical axis in a graph is known as :
% A FHeAigx A& FH JEN SR 8

(1) Reference Line (2) Abscissa
B qfemar

(3) Ordinate (4) Double ordinate
affgse gel Affee

Find out the median of the given data set :
11, 12, 14, 16, 16, 10, 18, 19,9, 20

feu wu offweT @==" HI TAH TG B
11, 12, 14, 16, 16, 10, 18, 19, 9, 20

(1) 15 (2) 16
(3) 13 4) 17

RET/23

90

91.

92.

93.

94,

95.

96.

. AT TRETChIAT: SIAHioT?

(1) 3o
(3) 5 awifur
foaTe e TalfGarH & wafd?
(1) 7 aEifor
(3) O aHifuT

ARAIATRIET Shal wafd?

(1) 14 SHe

(3) 23 f&Hamr
HicTd Heueend: ?
(1) ¥

(3) T

YRR He: el Iaufd?

(1) 120 fea=q
(3) 180 ey
gl haa: daf?
(1) 30

(3) 32

TR 3T R wafa?
(1) e

(3) Sm:

29

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

688/Jyotish Falit (i)

4 gyifur
6 auifor

8 auffur
10 auifoy

21 A=
22 fqawRr

190 feamrq
195 feArq

31
34

P.T.O.
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83. 5'30“‘\"4\"'1 qqfwd\EFQT o ? 04. The digital repository of theses and dissertations submitted to
(1) Ee I E Il (2) SRS universities of India is known as :
RGBS ERIGERS] (4) TESSIAHRT aRa & faeafgereadt § uega My veel ud shy EdS & Rfted wWer
HI AT AT B
84, THIAleg axid ? (1) Shodhganga (2) Shodhsindhu
(1) TegH (2) e et SRR
(3) Tghq (4) YRS (3) Shodhgangotri (4) Vidwan
ST CEW
85. Wy - wald?
(1) A (2) m 05. Which among the following pair is not correct ?
(3) TEEH (4) “remEEm Frefafad o & ®HiF-a1 379 a8l q8l © 7
(1) Regression — Galton
86. I & AeTAQH? ST — e
(1) o (2) W& (2) Correlation coefficient — Pearson
(3) T (4) afeg HeRdd T - frre
(3) ANOVA - Fisher
87. fashrafeam: shfaeessh: waf<? i O
(1) hIsRn (2) S (4) PCA - Gauss
(3) UemfaIfd: (4) Heferwfa: ddit - Titg
88. fagmn: Q’1§;\IC{¢IHH ighl-l\ ? 06. The checklist used to improve transparency in systematic reviews is :
(1) 323 (2) 299 FaRed el § URERMAT # d8aX g9 & [ IUART & St
(3) 278 (4) 289 e &
(1) META (2) COHEART
89. M TemawifoT? TN SICINEEEI]
(1) 120 oSt (2) 80 FHifur (3) PRISMA (4) MAXIME
(3) 50 FHifur (4) 36 9Hifur JSREARTATHT THIEFASTIRUR

28 5 P.T.O.
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07. The measurement scale with an absolute zero is : 75. HTIAIUITIER: ok Heiftrd: -
FrRUeT = arelt @Toe B (1) BRIETE (2) TasrRTR
(1) Ratio Scale (2) Interval Scale (3) SgIH (4) dfearsme
ST A9 ST A9
(3) Ordinal Scale (4) Nominal Scale 76. ‘R 3f HE e qHG:-
SHToep HTGT I Ao (1) TI= (2) IM:
: : : (3) (4) Ja¥
08. Among the following sampling methods, which one falls under the
goqug;fog%ﬁ F A B G B § st o § 7 77. AT -
1) Jadgerment sampi "2 Ouota samnting (1) SR (2) ==
udgement sampling uota sampling
3) Hed fem 4) F&ECTY
Frofg sifcrere HI Hferera ) ) * °
(3) Cluster sampling (4) Convenience sampling 78. SU=F O T I ?
NERINERE SIERIRIRERY (1) e (2) =g
09. The number of possible samples of size 2 out of a population with size (3) HwH: (4) <M
5 using simple random sampling with replacement is :
Wﬂ'ﬂ q;la—ﬂ. . .9
qicId & 91 93Xd deiesd giadd Hl IUANT X b 5 Jwl 79. T T W : TRz A
SHEE B @ SRR 2 % gH dviaa ufaesil @l der ® o (1) THEM: (2) TRE:
(1) 25 (2) 20 - -
(3) 10 4) 12 (3) ’ (4) )
10. The sampling method generally used for gathering information on 80. fuliy: &&d W Gl axial?
rare events is : (1) w9 (2) =qd:
gAY "HEAMS WX SRRl WHS HIA & [0 Frraar uiderme Gt @ (3) HwH: (4) <
SYIRT fRaT S ®
(1) Simple random sampling 81. IFUTarETe e A ?
2 g:at'f d d li 1) (2) 34
(2) f\a ifie Ian om sampling (3) foraman ) e
T UGBS =
(3) Snowl()allvsasmpling 82. & 7= fafy:?
e (ENeta) e o e
(4) Systematic sampling (1) (2)
(3) e (4) ot

hiteh Jfcaad

6 27 P.T.O.
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68. ‘{Hldcd'-l\’ Sfd h&d AT §l - 11. Match the given study designs in Column-I with Column-II and choose
(1) FIANET (2) gaEHE= correct option :
(3) TqdwEE (4) T=BHEH -1 H§ R T Aeme afueedl & & -IL 8 A o 98l [Aehed
ESEE
69. T T TMEHIOT *Faf<i- Column-I Column-II
(1) & (2) o= -1 T H-11
(3) (4) <%
A. Cross-sectional (i) Data comes in future.
70. TEHAHY Fater: el fe- e I AArpe s § e 2
(1) ‘{{ﬁ@:’ (2) I B. Case control (ii) Data comes at present.
(3) T== (4) = P Freidl aifpe aaa™ § faa B
_ . o ~ C. Cohort (iii) Data comes from past.
71. Th[HHA heY HIIMH &A1 A - <
SIS et AR Preré s o & frem ¥
(1) 100 (2) 1000
(3) 432000 (4) 1200 Code :
T
72. JESSIIRIIHR HTE T - (1) A-(ii), B-(iii), C-(i) (2) A-(ii), B-(i), C-(iii)
(1) ¥ (2) fomRRITT y . . y
(3) afd: (4) I (3) A-(iii), B-(ii), C-(i) (4) A-(i), B-(ii), C-(iii)
73. AHHRTIE TAH Hafd - 12. What is full form of USB as used in computer related activities ?
(1) T TR (2) T St FFgex § Hefd Al § ST 8 a USB &1 gui &9 @41 © 7
(3) 3THTETY ST (4) SEFUE Sfadte gare
(1) United Serial Bus (2) Ultra Security Bus
74. UG THATA fH: TR qafd- FERE R T T RS =
(1) d¥aE™ (2) SRR . . . )
(3) &=y (4) T&IUTH (3) Universal Security Bus (4) Universal Serial Bus
Firade R s| Fiada dRad 9

26 7 P.T.O.
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13. Which among the following can be used as post hoc test for means ? 62. FA (A FT T IUUG: Hidd: -
fFr<fafag & & @9 Tt & g diee-8 e &1 33T § 7 (1) = (2) wTE=
(1) Run test (3) THSA (4)  THATEEC
T e

(2) One Sample t-test 63. TAgH Y I {H -

o et (1) e (2) W
(3) Chi Square test for goodness of fit (3) ﬂﬁ: 4 9
ToTE 1 fhe & fow a1 o qder 64. TUSTHHRG-
(4) Inc}ependent t-test (1) e 2) et
(SRERSEHEL] (3) TR (4) =W
14. Which among the following is a referencing software ? 65. FI @ forgTeaET —
Frfafad § 9 HI9-91 T IHET digeday 8 7 (1) == (2) Feama
(1) Canva (2) PubMED
(3) wfwRTeR (4)  STgAeTHSH
el EECE
(3) EndNote (4) Sci-Hub 66. HUIH TIA-
ESSHIT SIESE] (1) FSATEITA
15. Which among the following is not an example of plagiarism detection ) h
software ? (3) =qufsn:
fr=fafea & @ ®q afeftas = & gar T e @iFeda H SETe T (4) fad=-Tomm-emen - ThEwETEy
T8 T 7
(1) Mendeley (2) Drillbit 67. HEAEMSiE-
e Rt (1) I (2) &=
(3) Urkund (4) Turnitin (3) et (4) STt
TS afifest

9

8 25 P.T.O.
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55. JEcifedoR TitdRey i gafefin &: geft:-

56.

57.

58.

59.

60.

61.

(1) W

(3) dfEes:
JEHEATTHR HIER LT gl fass
(1) <hidehM&EH

(3) gaTTEETT

T THETEER Ao
(1) ¥

(3) &

FHIATET TEEIH ;-
(1) ¥

(3) fag:

qHLN: Afaa=aie Tl & -
(1) <l

(3) dfeerh:

TROT HE TG Hl -
(1) ™1™

(3) HHTEE

‘=’ 3fd hea AT EHl -
(1) SeHEE
(3) g

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

IELEIEER
Yeie:

AT

N

AJUIKTAH

N

99:

3

=

ERRCEIELS)
I

[EGIREIELS
ERREIEIS)

RET/23

16.

17.

18.

688/Jyotish Falit (i)

The principle of experimental design which helps in minimizing the
bias is :

TR AT fHaid STt A & FAaH &3 H88 HIT ©
(1) Replication

P

(2) Randomization

AT BRI

(3) Local Control
T e
(4) Replication and Randomization

i iR ArgfeswiEmTT

The minimum number of levels in an experimental design should be :

T U AR J & H FYAGH & el e

(1) One (2) Two
TH &

(3) Three (4) Zero
Sik| S

Which of the following experimental design is preferred when one of
the factors needs more experiment material than the second factor ?

ST Rl TH HE Bl gAL BH Bl godl H AR T G H
MELIHAT Brdl 2, dl faefaigg & 9 g um s ey &t
rerfaeRar & Sl g 7

(1) Latin Square Design (2) Lattice Design
qfest i afirehed difed aTfered

(3) Split plot (4) Strip plot
SN g wife

9 P.T.O.
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19.

20.

21.

The type of ANOVA employed in analysis of Completely Randomized
Design is :

gl qrefes ANeed & [y H ugEd T & qHR 8

(1) One way (2) Two way without replication
T SR & R e

(3) Two way with replication (4) Three way
fcpicr & &1 IAH GIEGECR

Which of the following is susceptible with research ethics ?

Frefafed & @ &9 Agda Afdwar & uia Afq-dagasia 2 7

(1) Reporting of research findings

g fepet @ Rafd

(2) Inaccurate application of analysis techniques

EESERIGERIE N I SRR KRR

(3) Choice of sampling technique

yfcaae Al & aae
(4) Faulty research design

Qe <y fEsga

In finalizing the thesis writing format which of the following would
form part of supplementary pages ?

At a@s wreq &0 Sifad ®u 39 § Frefafaa #§ @ HiE-a g3 geal
1 fewdr @ ?

(1) Appendices (2) List of tables and figures

Rfare e SR SRSt H g
(3) Table of contents (4) Conclusion of the study
et e A ey

10
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49,

50.

51.

52.

53.

54.

Difference between the average vehicles manufactured by the
companies during the year 2015 to 2020 is :
g¥ 2015 & 2020 % SRE HUHE )T FEHT gt & ofrdd @ A

3.
(1) 205.5 (2) 105.0
(3) 103.5 (4) 107.5

If G, and G, denote growth rates of Companies A and B from 2015 to
2020 respectively, then which of the following is true ?

af& G, NX G, A 2015 4 2020 T HHFEl A R B &l gfa ax &l
e B, @ et # @ sie-ar ' ® 7

(1) G,>G, 2) G,<G,
3) G, = G, 4) G, <G,
ShE I A -
(1) (2) g
(8) FIE (4) S
TARRI: gt sia-
(1) Tora: (2) =
(3) ST (4) difare:
TAAN Fid -
(1) I (2) T
(3) ¥ (4) oI
e Tg: TREN qadel o Jafd-
(1) <= (2) @&
(3) Hfca: (4) o
23 P.T.O.
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Instructions (Q. No. 49 & 50) : Review the given figure which shows the
manufactured vehicles by two companies A and B during the year 2015
to 2020. Choose the correct answer for each question given below :
fdsT (Jo Ho 49 QT 50) : Fuar A= Ruw T 7% e a¥ 2015 4
2020 % IE & FUFAET A ik B @y ST aredt @i gerar &, @
gHiEm FHIve | J= @Y T gd% 99 & fu @@ I g |

Number of Vehicles Manufactured by Companies A and B during
2015 to 2020

400

" 335 336 337
=33
b % a

300

250
No. of Vehicles
Manufactured
150

100
50
0

205 206 207
fftfr aret & W@ 200 G/W

"' ﬁ‘-.‘,‘

."'-.,r#'

233 234 235

00 -

== Automobile Company A

= #l= Automobile Company B

T T T 1

2015 2016 2017 2018 2019 2020
Year

2015 & 2020 3 KW FF A IR B TN
ffa Tt 9 de

400

o 335 336 337
T—310 31t 312
k- . e ]
- - - -
300 | M= b Toget

250

233 234 235

——gifaeEy S A
150 -'-iﬂi’ q-‘,q:ﬁB

100
50

2015 2016 2017 2018 2019 2020

T

22
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22.

23.

24.

25.

26.

The mean of the standard normal distribution is :
W%Wﬂaﬁqqm%qéi

(1) Zero (2) One
gl T

(3) Infinity (4) Fifty
R =Y

In Harvard style of referencing for a book, which among the following
comes in the last ?

fpdl g&a® &I BEs Aal H HaHd & & [ Feiad #§ @ @e-an
AT H AT B P

(1) Book title (2) Year of Publication
g&i®h & RIS & I

(3) Place of Publication (4) Publisher
JPIMT bT T 1D

Which of the following educational program is not govern by IGNOU ?
7 & & F9-ar Afers FEiHT IGNOU & Henfad 78 & 7

(1) Gyan Darshan (2)
M &S

(3) Swayam (4)
©aYq

-

Gyanvani

e-Kosh

-3

The word research is derived from the French word :

ad 9r=%, B9 == F 9497 B ¢

Reserch
Rt

Resorce

e

Which among the following is an example of open-source data analysis

freafafag & @ H9-91 SNua-ard STfhsl fIeauer dideday &1 U

(1) Recherche (2)

(3) Ricirch (4)
fRfed

software ?

I B 7

(1) SPSS @)
THo Glo THo THo

(3) Graphpad Prism (4)
meve Bem

11

JASP

@fo To THo Gio
SAS

UHo Uo THo

P.T.O.
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27. What are the conditions in which Type-II error occurs ?

28.

I H=-a Rafoar 8 FEA @me-lI gfe Sow et B 7

(1) The null hypothesis gets accepted even if it is false.
LA IREFHT ST B W 1 @i & S ol

(2) The null hypothesis gets rejected even if it is true.

LA IREFHT T BN W A &I & S ol

(3) Both the null hypothesis as well as alternative hypothesis are
rejected.

T IR AR Sehieds TR Sl STEIBR &l SRl &

(4) The null hypothesis gets accepted even if it is true.

LI IR TF B W A Wi & AR

Following are some steps used in research. Choose the appropriate
sequence of steps in completion of research work :

g F IUANT fFT S At B AXoT FrEarad € 1 e ®E R 9 B
% [ =een 1 SR %H YA
(i) Literature survey
Hifee |eeor
(ii) Developing hypothesis
QReBTIAT &1 faehrd &Il

(iii Preparation of research design

STEYN STEed TR BT
(iv) Sampling plan

EINESRIE I
(v) Hypothesis testing

IReeTT T
(1) (@), (i), (v), (i), (v)
(2) (@), (iv), (i), (i), (v)
(3) (@), (), (iii), (v), (v)
(4) (@), (iv), (i), (i), (v)

12
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46.

47.

48.

The average monthly visitors (rounded) for site xyz in 2023 is :

g3c xyz & [0 A 2023 F HAifgs ofrad aLfw (qoited) fRas O ?
(1) 414165 (2) 414167

(3) 414168 (4) 414160

What was the percentage (rounded to zero) decrease in visitors from
April to May ?

AU | HE TH, A1 H UK (YT IX YOTRd) HHI Rl © 7

(1) 8% (2) 5% (3) 10% 4) 15%

The pie diagram given below, shows monthly expenditure of the two
families A and B on various items along with raw data of expenditure
as mentioned in the legend. What will be the ratios of radii of circle A
to B in constructing the pie diagram ?

= o g o™, =g & A itk & 9y v wE 9w &
aRERi A X B & HIfG® =¥ & &iAl 21 9B IR & FHer J g9
A & B & Fogrel &1 Agua @& 8rm 7

(1) 9:10 (2) 100: 81 (3) 10:9 4) 1:1
S — —
Family A | Family B
|
TRER A 5 yREr B
| O Food HIst
U Food $rstet | (%. 2700)
(5. 3500) | / I i
—— B cloth
cloth F93 | Misc. (5. 800) |
' (%. 500) ; |
I [ : '/_ i \  ORent fmEm '
| . D?:“’m“; ' ' e | @ 1000)
| 0% | | +1500) [ | [222%] |
| |Education | N [ | |education| / \ | Oducation R
e / cematonfier ||| \| R | (%.1800)
H.2r (5. 2000) ' N /=
/| Rent R : P 9 / O Misc, fafaer
||~ O misc. .y 9.88% 1800 |
(| RET | Cloth (r«l.sczsum [ 3 con| o) E
haaid 5 '
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Instructions (Q. No. 46 & 47 ) : Review the monthly website traffic
data for site xyz in the year 2023 provided in the data below. Choose
the correct answer for each question given below :

39T (Jo Ho 46 duT 47) : Fom <ig Ru 70 a¥ 2023 # AE< xyz &
HIfEe® dadge AT STTHS] Hl GHieT &1 | 9 &RT U g&ds 939 &

29. When the person lifts material that they have previously published

and passes it off as their own new work is known as :

T HIT Al 1991 gsd & TSI HI T3 I H adr 2 N 39

e |98 ST gH AYY AT HE H BT H UG HIAT &, A 3H HE[ Sl 8
Monthly Wegs%e_qTrafﬁc \data for the Sitf Xyz %ear‘2023) (1) Mosaic Plagiarism (2) Accidental Plagiarism

Xyz HIg< ¥ d=dZe AR ST -2023 N o N o

Y ~ 7 ) qIo% |iielas =Rkl HTHRAE Hifefas =R
Month Visitors 1f-Plasiar: 1 Plasiard
T Zsi® (3) Self-Plagiarism (4) Minimal Plagiarism
January 3,50,000 w-Hiieferes =R AL HRERC Kl
STE
February 3,80,000 30. Match the Column-I with Column-II and choose correct option :
A g _
March 3,00,000 e -1 B 'R Il 9 el ok ’9d faweq ﬂ% :
AT . Column-I Column-II
April 4,20,000 . .
S ELH wW9-1 wWH-1I
M;y 4,00,000 A. Explanatory research (i) Understanding causes and
H
June 4,50,000 consequences of phenomenon
S AT A gl & BRI AR GROME! & FHE
July 4,30,000 . s .
e B. Descriptive research (ii) Discover new phenomenon
August 4,70,000 oIS ST T2 g @ @
ST C. Exploratory research (iii) Describing existing phenomenon
September 3,80,000 )
Rz GoTge e A1l AT & ao
October 4,10,000 Code :
AFLHT '
November 4,80,000 B
RELCEY (1) A-(i), B-(iii), C-(i) (2) A-(i), B-(iii), C-(ii)
December 5,00,000 (3) A-(ii), B-(i), C-(i) (4)  A-(ii), B-(ii), C-(i)
[ETEERS

20
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43. Which statistical measure describes the central tendency of a data set ?

H-AT Gt Ao Alhst & AT Hl Had WG H ao &l © 7

31. Which of the following is not an appropriate tool for data analysis ?

Frfafaa § @ @E-9a1 s fasdve & [ S9gead Ul qE 8 °

) - (1) Standard Deviation (2) Range
(i) SPSS (ii) MS-Excel R T
THo Yo UHo TH TH oTH o-TFAA (3) Mean (4) Variance
(iii) R (iv) Python qey ENEY
M RN 44. What does a p-value in statistical analysis indicate ?
(v) Windows qifegsa fasawer § p-Aa= 4 R wxar ¥ °?
RN (1) The size of the data set
Code : et B T[T B SAHR
(2) The probability of obtaining results by chance under null
&< - hypothesis
(1) Only (i) (2) (i) and (iii) L URETT & SR A Bl ATHRAD TG F I FHA Bl Gl
Fad (ii) (if) N (iii) (3) The mean of the data set
(3) (i) and (iv) (4) Only (v) SAFET & T B A
y ) (4) The variance within the data set
(i) &R (i) P (v SATHSt & IH=AT H TG0
32. In an experiment conducted on goats, the following were measured 45. What does the term 'outlier' refer to in data analysis ?
on each animal in the study : Sex, weight (in kg) and birth order. The SAtpst & Fauer § ‘agfewy ue’ sm &1 Fr g 7 7
scale of measurement of these variables are : (1) A data point that lies within the expected range
FHAT g¥ FT T T AT H, TIE H TS oHdaX U MErad &l @Wﬁ%ﬁ@%@mﬁ@m%
HTET e fefeT, ast (Fpomo &) ofiT o+ &7 | & =90 & AT H gy (2) A data point that does not fit the overall pattern of the data
A S T AT &g S oiiepet & i Yot & fbe & 2m B
(1) Nominal, Ratio, Ordinal (2) Ordinal, Ratio, Ratio (3) The average value of a data set
A, U, hih hitieh, ST, ST ST e B ofad A
(3) Ordinal, Ratio, Interval (4) Nominal, Nominal, Ordinal (4) The data point that lies between the first and third quartile
hiteh, ST, ST e, T, shideh SATheT ag==g ¥ Ued SNk drEx Iqged® & = &1 "W
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40. A longitudinal research design is :
UF Ages AFEUE AMHEHT T
(1) Studying multiple groups simultaneously
%3 TYEl H GHHNAS AT
(2) Collecting data at a single point in time
TH & T W SAHS! H HHET
(3) Observing participants over an extended period of time

U [qEaia G9amary ae SireE ol Seror

(4) Analyzing historical data
ufefs STTwhst &1 faLAuer T

41. Which research design investigates the cause and effect relationship
between variables ?
HIF-AT ATHI ARTHT T B G TAE-HROT GH= HI e Bl
g7

(1) Descriptive design (2) Correlational design
Ui AR HeHweTHE AR

(3) Experimental design (4) Case-study design
SN SATTehed HE-HAGT ADRT

42. Which of the following is not a primary purpose of a literature review
in research ?

=1 & & @i Ao aHieT ® e 3% T8l © 7
(1) To summarize the researcher's findings
SN & AT H HACHBL
(2) To provide a historical background of the topic
fwar 1 fceiiaes TodfH Y& H
(3) To identify gaps and justify the need for the study
SIG! B TEd BT A ST B AR Hl I S8l
(4) To present statistical analysis of the data

ATt o i fasaser awgd &

18
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33. Which among the following is not an example of primary data ?

34.

35.

fr=fafea & @ @9-ar arafis offems &1 e 98 B 7
(1) Data collected through surveys
T B W A THEA SiES
(2) Data collected through interviews
THEH & HEAH & TH 3iibe
(3) Data collected from experiments
T UHR SThe

(4) Data collected from national census reports

T TOMT viqaes § UhEa aiihe

Kurtosis of a standard normal distribution is :

U% HEE TEHRT fFa¥er # fEHEdar © o

(1) Zero (2) Three
S d

(3) Two (4) One
q T

A subset that is chosen from population is known as :

Th IuEgEEE (8 Uh SHde @ g S 8, dhedrdl 8o

(1) Parameter (2) Variable
IS EN
(3) Sample (4) Statistic
yferast Faest
15
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36. A Which of the following is not applied in research involving qualitative

variables ?

F=fafaa & & &9 ONcH® =@} K Mied & ad TgEd™ H ugER
T BT 2 7

(1) Proportion (2) Diagram
SRLIN] SIReC]

(3) Odds ratio (4) Mean
EEEECRIR] areg

37. Read the following statements and choose true statement(s) :
it wael @ 9@ AR g HOH A

(a) Independent variables are unknown variables.

Was =X TG ) 2

(b) Dependent variables are unknown variables.

¥ =¥ T = B

(c) Research decisions are made on dependent variables.

STIEEN o i o W B/ 9 2
Code :
EE\E :
(1) Only (a) (2) (a) and (b)
T (a) (a) 3 (b)
(3) (b)and (c) (4) (a) and (o)
(b) & () (a) IR (c)
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38. The sampling method in which after random start, every 'kth' individual

is selecting from the population list is known as :

UF IEfes® ARH & IR SIdE gl & s kAl @At & =g
HIA At "fcrerge & g o

(1)

(2)

(3)

(4)

Simple random sampling
M AE8S Ticeas
Systematic sampling
PHES, e

Stratified sampling
ISMENEEINCER]

Cluster sampling

eS8  Uier= =

39. In stratified random sampling, how the strata within the population

are decided ?

Thd agfees dfaad & sHEe & @ & Fgiver $8 B s

T 7
(1)

(2)

(3)

(4)

Randomly

giefesd w9 49

Based on specific characteristics of population
S % faferee [EQare T e

Using a pre-defined pattern

gg-MaiRa e ® ST F

Using geographical proximity

AR FHOAT & STER %
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